1 Review of Mathematics

opracions with parntsis:

Primroses multiplicacions Is or Is its divisions and dspus + or rstas.

when s greatest common divisor s acl c: 1 rsultado entrl dnominador xlI numrador.

s always simplify db

d exprsa fraction as:

when s dcimal pure priodico eg n = 235.2 -> priodico s ac: numrador enl: ]| numro entered
without coma - the part in (the dcimal g no s) and dnominador: many 9s cm tngal figures priodo
when s dcimal priodico mixed: eg, 1.37 2 -> priodico s ac: 1 numrador: numro entered without
coma - all figures Is q no priodicas san dnominador d: 9s cm figures tngamos many odd numbers do
not cros cm priodicas tngamos d dtras comma.

potncias and raics:

Propertys d Is potncias:

lalvado to cro s equal to 1, c = 2alvado abx Alvado Alvado b + ¢ 3. Alvado Alvado b ¢ d match
= Alvado bc, 4 (Alvado b) ¢ = Alvado elvado bxc, 5 Alvado-b = 1 game d Alvado b, 6. 1 game d
Alvado Alvado mnso b = b, 7. (axb) LVAD ¢ = cx Alvado blvado c, 8. (from b) LVAD Alvado c ¢
= match d blvado c, 9. (from db) Alvado LVAD-c = match d-c-c = blvado party blvado ¢ ¢ d Alvado
dl problme wire:

the 1st Part D Wire tnmos d 90 m. Is 2 trcias parts vindmos to 3 € the mtro, 1 dl's sixth RSTO to 4 €
the mtro and mtros Is q 2 € 1 gqdan mtro how many emos won if compradol mtro d abiamos wire to 2
€?rspusta:

1st stage: 2 trcios d 90 = 60, gqdan 30

2nd stage: 1's sixth d 30 = 5m. gqdan 25

1st stage: 60 euros game mx 3 m (taxare) = 180 €

2nd stage: 5 euros game mx 4 m (taxare) = 20 €

25m (taxare) 2 € game match m = 50 € 250 €

solution:

250-180 € = 070 € prcio cost: 90 m (taxare) x 2 euros match m = 180 €

division d polynomials:

dl-co100t Terms ayamosl Primroses, Terms dividiendol greater degree d dividing entrl dl d
dl greater divider.

Terms-st we multiply x every 1 divisor dl d Is 1 Terms rsultado what the dividing rstamos
- Horn procs rptimosl RSTO tnga degree polynomial gl ql Mnor divisor.

100tifica notation:

"Consist exprsar numro Is with the 1st one significant figure (other than d 0) d ants to
eat"

intrvals:

if you notif [] s crrado colored Is ys ys points ( prtncn December

if you notif (0.2) s open and non-colored s ys q no s prtncn December.

igualdads notabls:

(@a+b)?’=a?+2-A-b+Db?

(-a+b)=a%?-2-a‘b+hb?

(ab)=a?*-2-a*b+hb?

(-ab) =a*+2-a-b+b?

(-a + b) - (ab) = a ?*?

xa factor formula:




-b + - root SquarePants kuadradada to -4 db split xaxc notif 2 x to



